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1) We can create equivalent fractions by multiplying numerator and denominator by the same number.
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2) We can also create equivalent fractions by dividing both parts by the same number. This is called
reducing a fraction, or putting it in lowest terms.
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3) To add or subtract fractions, they need to have the same denominator (a common denominator).
We can rewrite the fractions as equivalent fractions in order to do this.
Then we add (or subtract) the numerators, but leave the denominator the same.
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4) To multiply fractions, we do not need common denominators.
We simply multiply the numerators and multiply the denominators.
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5) To divide fractions, we turn the second fraction upside down, then multiply the two fractions.
Do not change the first fraction. When a fraction is flipped upside down, we call it the reciprocal.
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6) Usually the easiest way to deal with mixed numbers is to rewrite them as improper fractions, then
perform the operation on them. /
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Improper Fractions and Mixed Numbers


An improper fraction has a numerator bigger than its denominator.
An improper fraction always has a value greater than one. 
Converting an improper fraction to a mixed number
See how many times the denominator goes into the numerator and how many are left over.


For   EQ \f(13,5) , 5 goes into 13 2 times, with 3 left over.

So  EQ \f(13,5)  = 2 EQ \f(3,5)     We keep the original denominator.


A couple more examples:



 EQ\f(17,3) 

 EQ \f(17,3) = 5 EQ \f(2,3) 


 EQ \F(13,4) = 3 EQ \f(1,4) 
We can also do the reverse: convert a mixed number into an improper fraction.

Example:
2 EQ \f(5,6) 
We multiply the denominator by the whole number.
6 x 2 = 12

Then we add the numerator.




12 + 5 = 17

And we put the total over the original denominator.
So 2 EQ \f(5,6) =  EQ \f(17,6) 

A couple more examples:


3 EQ \f(5,8) =  EQ \f(29,8) 

(8 x 3 = 24;   24 + 5 = 29; keep the original denominator.)


4 EQ \f(2,3)  =  EQ \f(14,3) 

(3 x 4 = 12;   12 + 2 = 14; keep the original denominator.)
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